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OPTICAL INSTRUMENTS AND MEASUREMENT
fruifa awg . 39) [Aftreman 31 - 60
Time allowed : 3 Hours] [Maximum Marks : 60
AAe: () FA-FAATGEIAC g HE
Note : There are THREE sections in the paper A, B and C.

(i) QFT-T T T GEAT1 F G 10 97T F IR G | TAF 7T T % F 8

ud @Y 10 97T TGI8 FR & 5o & 8 |

Answer all the 10 parts of the question No. 1 in Section A. Each part
carries one mark and all 10 parts have objective type questions.

Giii) QFTT-d & 8 v 7 @ fEE1 6 T & I AT | Y% 9 3 P 1 8 GG
7F1 5 3T / 50 WGl 7 3% v |

Answer any 6 questions out of the 8 questions in Section B. Each question
carries 3 marks and to be answered within § lines / 50 words.

(iv) QFA-F 6 T T 8 5T 4 ¥ & I AT | IH F 8 3% H1 8 T
g7 15 157 / 150 9&gl 4 I e |

Answer any 4 questions out of the 6 questions in Section C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.

(v) N G G 91 1 FHAR TF G EF HAT |

Solve all the questions of a section consecutively together.

i) @ I B 3R 87 Rt 4 s A @ 8 |

Only English version is valid in case of difference in both the languages.

YA - T
Section — A
L () vt o fre faga o e 2
(a) 9ol FAr=afth WEd (b) 9ot FTadA
(c) Ui gaw (d) I9de | B HIE T
Optical fibers work on the following principle :
(a) Total internal reflection (b) Total refraction
(¢) Total polarization (d) None of the above

(10f4) P.T.O.
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£ 329 HIgat i T H arell gehrea fHl waerd 8 -
(a) Ehia fomtoi (b) wftfeae faal
(c) efetret oot (d) Iuliad | & &g T
Optical rays travelling in a step index fibres are called as
(a) Skew rays (b) Meridional rays
(¢) Helical rays (d) None of the above
gatfye &z =ter gl wad an
(a) WehTHTE A Ha (b) i-Hef Faet
(c) HHIL AT et (d) WOE qR gH Fae
The cable with maximum bandwidth is
(a) optical fibre cable (b) coaxial cable
(c) parallel wire cable (d) thirsted wire pair cable
¥ 39 I (GI Fiber) H T8 % Hel1a 1 417 H0l 2

(a) sewred feeas (b) Femisa fees

(©) (a)d (b)aHi (d) oA FE T

Pulse broadening in Gl fibre is mainly due to

(a) Intermodal dispersion (b) Intramodal dispersion
(¢) Both(a) & (b) (d) None of the above

. 3. 3. (CRO) &1 T 2

(a) HUTE TW ATGAEHN (b) e T HifGer=h
(¢) el L AT (d) A HE @
CRO stands for

(a) Cathode Room Oscilloscope (b) Cathode Ray Oscilloscope
(¢c) Colour Ray Oscilloscope  (d) None of the above

£ § @ 1 |1 U W19 gfaa 1 Safrere TE R 7

(a) g (b) et

(c) fasfran (d) e

Which one among the following is not a characteristic of measuring device ?
(a) Accuracy (b) Sensitivity

(c) Dependability (d) Linearity
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(vii) arEfas 9= & T 9194 HEAT

(a) URgEE (b) TS
(c) forames @
Measurement close to true value is called

(a) Accuracy (b) Average
(c) Precise (d) Error

(viii) V- &1 9T 2 :

(a) m/sec (b) km/sec?.

(c) m-sec (d) mﬁﬁaﬁgqﬁ

The dimension of V-Number is :

(a) m/sec (b) km/sec?

(c) m-sec (d) None of the above
(ix) fre &3 3, &1 s Hg 2

(a) e e (b) FERHLA

(c) wiat wgia (d) Iodw | & HiE T

Following is one of the control of CRO.

(a) Intensity Control (b) Contrast Control

(¢) Resistance Control (d) None of the above
(x) fefaeat wedifier o Haa 2

(a) dreedl (b) W

(c) wfet= (d) I9gaa |t

Digital multimeter can measure

(a) Voltage (b) Current

(¢) Resistance (d) All of the above

Yo — ot
Section - B

i iehel B3t HER YOTe! & oy qa13T |
Write advantages of optical fibre communication system.
Juefagy araT Higee FI & aed & 7

What is the significance of bandwidth length product ?
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V-37h 91 8 7 HE | HHS |
What is V-number ? Explain briefly.

orq= | g areft fafte weer i gfeat o arfieo $Hifs |

Classify the different types of errors that occur in the measurement.

wehTe1a dq # $eviree fawaur i Ga § ==t Fifsd |

Briefly discuss the inter-modal distortion in optical fiber.

F1.E.E 3. F IIE Fasy |

Write the applications of OTDR.
HEHH ZTeh 1 019 &8 fohan a1 2 7 aweinsd |

How is numerical Aperture Measured ? Explain.

S Tehel Tlagh TATATSHL 1 991 I 2 7

What is the use of optical spectrum Analyser ?

qaE -t
Section - C

. 3R 3. F1 @S G FA13Y Ud FHb! RIS B THIAE |
Draw the block diagram of CRO and explain its working.

d 1 fewgda 7 = 6 awa i fafa =1 aagmsd |

Explain time domain method of fibre dispersion measurement.

fafir= wenr 1 yeprsfra dq3ii st 37t Wiwmge T afea awemsd |
Explain different types of optical fibre with their profile structure.

e i 3 s # s e e e w5 e |

Explain Bending losses & coupling losses in reference to optical fibre.
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Aq TSN & AUH F AT B 7 WA TnsiEn wyie i wEivned wi Gag |

qugTE |

What do you mean by fiber splicing ? Briefly describe the working of fusion splicing

machine.

HTE-ZHU < FEEAT § HT G Uhfra i At 2 7 fawan & wwemsd |
What information is gathered using eye diagram ? Explain in detail.

(8)

8)



